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Section : General (English & Hindi)

QA1

Ans X1 if
< 2. because
#< 3. s0 that
v 4 unless

I cannot interview these candidates

Select the most appropriate option to fill in the blank:

I know their academic background.

Question ID : 5096475929

Status : Answered

Chosen Option : 2

ans X1
X2
X
v

Q.2 Select the correct passive form of the given sentence:

The scientists have confirmed the existence of 44 new planets in other solar systems.
The existence of 44 new planets in other solar systems will be confirmed by scientists.
The existence of 44 new scientists in other solar systems has been confirmed by the planets.
The existence of 44 new planets in other solar systems confirmed scientists.

The existence of 44 new planets in other solar systems has been confirmed by scientists.

Question ID : 5096475931

Status : Answered

Chosen Option : 4

Q.3

Ans X 1. has worked
#< 2. worked

#< 3. works

« 4 is working
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Select the most appropriate option to fill in the blank:

Please put off the television. Can’t you see, Dadaji

on his book.

r
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Question ID : 5096475923
Status : Answered
Chosen Option : 4

Q.4 Select the option which is NOT an antonym of another word by way of adding the prefix *dis-".
Ans X 1. Disillusion

/X 2. Displease
« 3. Dispense
/< 4. Disappear

Question ID : 5096475936
Status : Answered
Chosen Option : 3

Q5 Select the most appropriate option to fill in the blank:

The  ship prove to be a treasure trove for the pirates.
Ans X 1. drowned
/< 2. drowning
< 3 sunk
v 4 sunken

Question ID : 5096475925
Status : Answered
Chosen Option : 3

Q6 Select the most appropriate ANTONYM of the given word:

EXUDE

Ans X 1. Convey
#< 2. Emanate
X 3. Give
W 4 Absorb

Question ID : 5096475935
Status : Answered
Chosen Option : 4

Q7 Select the most appropriate synonym of the given word:

ABANDONED
Ans o 1. Discarded
< 2. Dismissed
#< 3. Disturbed
/< 4. Dispersed

Question ID : 5096475934
Status : Answered
Chosen Option : 4

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258019106/1258019106S3D404/15603365508466078/4...  2/43


https://aview.in/
https://aview.in/category/previous-papers/

6/20/2019

DISCRETIONARY
Ans X 1. Exceptional

« 2. Optional

/< 3. Necessary

/< 4 Fixed

Q8 Select the most appropriate synonym of the given word:

Question ID : 5096475933
Status : Answered
Chosen Option : 1

Ans o 1 cheaper
/< 2. as cheap
/< 3. cheapest

/< 4. cheap

This hotel is

Q9 gelect the most appropriate option to fill in the blank:

than the other hotels on this road.

Question ID : 5096475926
Status : Answered
Chosen Option : 1

Ans X1 us
< 2 him
v 3 them
/< 4. they

Q10 Select the most appropriate option to fill in the blank:

The Jews brought strange trees and Ibrahim made Farouk count

Question ID : 5096475927
Status : Answered
Chosen Option : 3

Ans 3¢ 1. have injured
/< 2. injure
« 3. will injure

/< 4. injured
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Q1 Select the most appropriate option to fill in the blank:

You yourself if you too near to that machine.

Question ID : 5096475924
Status : Answered
Chosen Option : 2
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Q12 gelect the option that expresses the given sentence in reported speech.
Rahul said to me, “I will get the vegetables for vou from the market.”

Rahul told me that:
75 1. I will get the vegetables for vou from the market.

Ans
/< 2. He will get the vegetables for me from the market.
/< 3. He would get the vegetables for you from the market.

« 4 He would get the vegetables for me from the market.

Question ID : 5096475941
Status : Answered
Chosen Option : 4

Q.13 Select the most appropriate option to fill in the blank:

Her parent gave her a satellite phone

she needed to contact somebody in emergency while on her high altitude
climb.

Ans 1. 5o that
75 2. whereas

/< 3. as though

« 4 in case

Question ID : 5096475930
Status : Answered
Chosen Option : 4

Q.14 Select the correct passive form of the given sentence:

The landowners sold the abandoned land to the Jewish Land Fund at an outrageous price.

Ans x1_

The abandoned land sold the landowners to the Jewish Land Fund at an outrageous price.

52

The Jewish Land Fund was sold by the landowners to abandoned land at an outrageous price.

&3

The abandoned land had been sold by the landowners to the Jewish Land Fund at an outrageous price.
v

The abandoned land was sold by the landowners to the Jewish Land Fund at an outrageous price.

Question ID : 5096475932
Status : Answered
Chosen Option : 4

Q.15 Inthe following sentence four words or phrases have been underlined. One of them is incorrect. Choose the
INCORRECT word or phrase from the given options:

Forty-eight special trains was run over the past two days from Kerala to Chennai and other areas to rescue the people
stranded in Kerala floods.

Ans 3 1. stranded in Kerala floods
7< 2. over the past two days

/< 3. to rescue
4 was run
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Question ID : 5096475940
Status : Answered
Chosen Option : 4

Q16 Select the INCORRECTLY spelt word:
Ans 1. Gorgeous
#< 2. Grandeur

/< 3. Guardian
!f 4. Garrantee

Question ID : 5096475938
Status : Answered
Chosen Option : 4

Q.17 In the following sentence four words or phrases have been underlined. One of them is incorrect. Choose the
INCORRECT word or phrase from the given options:

Grandmother often took me with her when she is going to the Sennaya Square for water.

Ans 1. for water
< 2. often
75 3. with her

« 4 is going

Question ID : 5096475939
Status : Answered
Chosen Option : 4

Q18 Select the correctly spelt word:

Ans X 1. Commision

75 2. Cummission
+ 3 Commission
/< 4 Comission

Question ID : 5096475937
Status : Answered
Chosen Option : 3

Q.19 Select the option that expresses the given sentence in direct speech.
Sapan told his mother not to worry. He would go to town and look for work. Then they would be able to pay their debt.

Sapan said.

Ans x1.

“Don’t worry, mother. He will go to town and look for work. Then he will be able to pay their debt.”

52

“Mother, not to worry. He would go to town and look for work. Then they would be able to pay their debt.”

v

“Don’t worry, mother. I will go to town and look for work. Then we will be able to pay our debt.”

F

“Don’t worry, mother. I would go to town and look for work. Then we would be able to pay our debt.”

Question ID : 5096475942
Status : Answered
Chosen Option : 3
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Q.20 Select the most appropriate option to fill in the blank:

There is nothing wrong with the television set but there is definitely some problem in the dish.

Ans X 1. himself
< 2. themselves
v 3 itself
< 4 oneself

Question ID : 5096475928
Status : Answered
Chosen Option : 3

O T e

Ans «1_ tﬂﬁ?l'
< 2. |TeT
<3 e

< 4 e

Question ID : 5096475962
Status : Answered
Chosen Option : 1

O gy T FET GER 1 3RE HY FAEC:
Ans 21 gTeT JTST

X 2 gy e

v o ReFg e

X4.?ﬂ?."‘=|§?-ﬂ?lT

Question ID : 5096475951
Status : Answered
Chosen Option : 3

O g F BT g F U B
Ans x,]a__p_r

Ko ag

v 3. Ffa=r

X 4 AT

Question ID : 5096475944
Status : Answered
Chosen Option : 3

0% gy & AT, 3T ¥ w9 F v ST 2e
Ans X1 i w3 s
v 2 Hg # TH 9T F o
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X 3. Ft T F g 3UR
K o FHT FT FT H I

Question ID : 5096475953
Status : Answered
Chosen Option : 2

B HaeT weC HF oA ¥
Ans X1 seTdeTE

Question ID : 5096475959
Status : Answered
Chosen Option : 2

A% e g H AR 7 F T F BHe 3G gEEw g
Ane X1 Ferdr @ A=

V2 TE T T EleaT

K5 Fareh 3T

X 4 SATT ST

Question ID : 5096475952
Status : Answered
Chosen Option : 2

W e T BeE T
Ans o 1. oJRETA

X 2 o
< 3. HeATHI

/< 4. WIOET

Question ID : 5096475949
Status : Answered
Chosen Option : 1

O 3z + g HrEf
Ans o1 et

X2 s

X3 e

v e

Question ID : 5096475956
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Status : Answered
Chosen Option : 4

az I FII ET ¥ THT F AGEIA &

Ans

X 1. I T FI g
X2 I FI TS g
v T F3 T g

X4 I FIST e 2

Question ID : 5096475961
Status : Answered
Chosen Option : 3

W R A Y TET T AT T
Ans x1w

v 2 g

< 3 T

?(4.§|T

Question ID : 5096475943
Status : Answered
Chosen Option : 2

G T eq TART:
Ans x1- ﬁ%l_'[
VR
X3 Rame

L

39

Question ID : 5096475946
Status : Answered
Chosen Option : 1

Q32 (ET ¥ HER) TeE 3 T @ maE R we aRw
Ans x»]m

X2 gfgaaa

X o HIEET

v 4 TUTaET

Question ID : 5096475958
Status : Answered
Chosen Option : 4

OB ATy TS T e E
Ans x1_m+m
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o 2 FITF + AT
K3 S + AT

X 4 FIF + HATYT

Question ID : 5096475955
Status : Answered
Chosen Option : 2

4 o T
Ans x1_ FoT

X3 &g
X 4 3T

Question ID : 5096475948
Status : Answered
Chosen Option : 2

Q.35

WeT Fgaa H GgFA Flel Ao A B
A 1w
v 2 3
X 5 R
o

Question ID : 5096475960
Status : Answered
Chosen Option : 2

Y R T I AT T aET e &

Ans x1_ ﬁ_q_ﬂ:"_
X 2 deR
W 5 g=aT

< 4 Fig

Question ID : 5096475945
Status : Answered
Chosen Option : 3

O et @ It A8 T
Ans x1_ (_'r'ﬁ-

v o FeEdr

X 3. giyofr

X 4 AT

Question ID : 5096475947
Status : Answered
Chosen Option : 1
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Q.38 m Y m} BT uHr O e T 3o %’:

Ans x1. ﬂ *
x 2. mgrmam’w

X 3 FTOF ISR
v 4 Y HAFT

Question ID : 5096475957
Status : Answered
Chosen Option : 4

 efE & ¥ BT o T amE T
A 1 Fg 3T BX TE E

X2 # g gar g 2

<5 ag @ = s wh

K 4 TR T IIAT FTH R

Question ID : 5096475954
Status : Answered
Chosen Option : 3

Wy Fr RH gem

Ans (1_ w
K2 Heb

X 5 TeTaaT
< 4 3

Question ID : 5096475950
Status : Answered
Chosen Option : 1

Section : General Awareness

Q1 gt gamr GrmffE & @ BT ot T = HEEREE e gwel 1 TER % Fen e
T AT o4T?

Ans X1 i
V2 S
X3 ARy
XK+ S A

Question ID : 5096475973
Status : Answered
Chosen Option : 2

Q2 o i F PR F & F5F AT # S GeeNor B wRHaT A8 g 87

Ans
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K1 o3t
VAR
X o
X 4 T

Question ID : 5096475985
Status : Answered
Chosen Option : 2

** ofre @e 2018 & 9RT F T fraw Tew S §?

Ans X 1. 49
<2 79
/<3 59
v 4 69

Question ID : 5096475970
Status : Answered
Chosen Option : 2

Q4 v w afrre-RaemsiEe sfae wR v e Row ams o e B
Ans X1 argor ol

X 2. g2 wa

' 3. FTOT TMefY

X 4 FATT ST

Question ID : 5096475964
Status : Answered
Chosen Option : 1

Q5 FamE FraEsa T Soae AHE e T 99T, SRT § BE Us9 § e 7

Ans x1_ m
v 2 Feme
A3 SearE
< 4 TEATES gaer

Question ID : 5096475988
Status : Answered
Chosen Option : 4

Q6 sl G @ RRTRE # ¥ F 6 sy, ue RvTE ¥ gae ¥
X FEeST 234

X 2 =G 144

X s 3@%‘&216

(4.3@%‘&199

r N
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Question ID : 5096475979
Status : Answered
Chosen Option : 3

Q.7 ¥ 1930 F sem Fr THETAT HAF F N, eI ATIEIT 9T HHAUT U AT AT FiF 47

Ans ?(1- ﬁﬁﬁﬂlﬂ__"
VR ko

/3 afaEdr S
X 4 =T Twadt

Question ID : 5096475976
Status : Answered
Chosen Option : 3

% 36 km Wi T AT F ¥ Ee wET &7
Ane X1 5 #Hex 9 TS

X 2 20 #Hrex 9fT TFs

v 2 10 #Hrer 9fT gFs

X 41 g 9fy a5

Question ID : 5096475987
Status : Answered
Chosen Option : 3

% HCl + NaOH, + Ho0O ware Fxar Bl
Ans X 1. NaOH

X 2 CIOH

v 5 NaCl

X 4 HCl

Question ID : 5096475986
Status : Answered
Chosen Option : 3

Q10 Srafafee § @ fFw & & SEw 368 T IETEw 2019 $ HeEET H
Ans X1 Fregrar

v 2 ATt

<o araifaar

A4 Fireram

Question ID : 5096475967
Status : Answered
Chosen Option : 3

Q11 sz #ifF 3t gava R (DIPP) aamr Reafes F & &5 70 & wee-am IR 2018 &
FIATS YS9 T 9 F T H gEAAg B o 3

Ans o 1. TSI
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X 2 ghegmom

3 3T geer
X 4 7qeT g

Question ID : 5096475963
Status : Answered
Chosen Option : 1

Q12 Frafafea & & ey o= & fagsx 2018 #, SRy ol =87 AWT W F T ¥ FEglaE 3009
T aTeRer 2018' & 3= faar ar?

AN o TORTE
< 2 I
v o mET geRr
< 4 BEr

Question ID : 5096475965
Status : Answered
Chosen Option : 2

A3 s 3 Yo Fr eI rAfefld F @ R e TR o & & o4

NS G
V' 2 F1S Sl
X s arE Rfeas dtes
X4 Irew HeHTH

Question ID : 5096475975
Status : Answered
Chosen Option : 2

Q14 Srerger & FeET a4 ¥ T aRdw @fue e eiRe defte dvwar w2 32
Ans XL X

X 2 ETdeh

v o g dafte dTar iR a8 oo

X4 X

Question ID : 5096475978
Status : Answered
Chosen Option : 3

O By wEe F ARAT IR & el TS $ T #?
e XK wEeaT &=

X 2 garTg &

v FHReg &

X 4 GREIcAA &

[ Question ID : 5096475974 ]
https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258019106/1258019106S3D404/15603365508466078/...  13/43


https://aview.in/
https://aview.in/category/previous-papers/

6/20/2019 https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258019106/1258019106S3D404/156033655...

Status : Answered
Chosen Option : 2

W  #ran i
Ans xmwma;m
X 2. AT Y@ & SiEoT
X s 3RE FER & 9fvasm
#'4.34'?4@@3?3??

Question ID : 5096475990
Status : Answered
Chosen Option : 4

Q17 Trafafga & § @19 &1 gu, 99 2020 75 Wi A& EeT F1 GFF F aeT Tge 3 e
areT &7

Ans “1. ‘ ﬁ
X< 2 fraalE
p ﬁ»’rgsﬂﬁm

< 4. rarrT

Question ID : 5096475969
Status : Answered
Chosen Option : 1

Q18 e & wear wHT e FEW @ I Telafle § ¥ fBw vew F g

A 3Ty e
X 2 3caT weer
X3 aiar
/X 4. HAGRTSC
Question ID : 5096475983
Status : Answered
Chosen Option : 3
19
@ , F HeTE o

Ane X1 b, T FeTaT; et ST
2. IO ATHET ATToIehT; Tgoil olImasT
X 3 dr. T geTAT; Tgell A
X 4. MO AHES ATSda]; TT=aT dAlTHT

Question ID : 5096475980
Status : Answered
Chosen Option : 2

Q20 serarer et g2 F Shawee F 9 sRA § o Hgeee a1 FEe TeT Fieg 97
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Ans «1_ m
X2 =g
X 5 aNE
X4+ 2H

Question ID : 5096475977
Status : Answered
Chosen Option : 1

AN g & PR § ¥ B s 8y & 78 g9 w7 8
Ans x1ﬁ?{aa1§
X 2. Hleledls

=

o 3 PEATS
< 4 HATeAS

Question ID : 5096475989
Status : Answered
Chosen Option : 2

Q22 gy w1 g ¥l WREEY $REE e Rl ¥ e e w By 32
AnS o Py

v 2. iR

X o s

X 4 AeAs

Question ID : 5096475991
Status : Answered
Chosen Option : 2

O qureEr AT gEE e R 9§ o B aE o

Ans X 1. 2004
< 22010
V32000
241991

Question ID : 5096475984
Status : Answered
Chosen Option : 1

Q24 Profafes # ¥ 5w Rerd & T M I o [ER 2018 &3m mar &2
LY S

X 2 FrEaT Agard

v o fore wrger

K4 TR AT
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Question ID : 5096475971
Status : Answered
Chosen Option : 3

Q.25 e armen @ FeR 2018 #, TN wEOT F TREEEE gE Tt e & # e
HTAFT 399 AgFAS VI-B Fe= frar e ar?

Ans «1m
X 2 et
s anfeeaar
X 4 ATSSATET

Question ID : 5096475968
Status : Answered
Chosen Option : 2

Q.26 fr=fofee # & e 37 o Bfee sgoow g & Bw 78 s S weecis fass (MOPAD)
e R 32

Ans x1341§?4’f3ﬂ%14’f3ﬂ%ﬂ$
v 2 BT d% He sEar
X3 FHA oF
X 4 ToSURET §

Question ID : 5096475982
Status : Answered
Chosen Option : 1

Q27 srfer & Trafafe e ger & Tea eé-vie Yo a5 @ e R T 3
Ans XK1 FTERY

v 2 AgEER

< 3. =TT

X 4 37areT

Question ID : 5096475966
Status : Answered
Chosen Option : 3

Q.28 irzrzar A (FFE-EET ) 2018 #, w andw Berdr & after vee taw o @9 F T w2
Sar?

M o TR
X 2 FAYRER et
o gt
v ¢ giae O

Question ID : 5096475972
Status : Answered
Chosen Option : 4

Q.29 Frwfafea & & 5 AT &1 Seten @ & T g He 12 Sall # TSE I f&a@ wmr s 32
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At T el
X2 gAY =T AE
X3 o ForH
X 4 e el

Question ID : 5096475992
Status : Answered
Chosen Option : 1

Q30 s wfue 1 SRl F ¥ F @ e, TeaTe g R wEe @ wEe B

Ao IEeE 176
X 2 3=t 150
X o 3= 228
X 4 TS 214

Question ID : 5096475981
Status : Answered
Chosen Option : 4

Section : General Aptitude

Q1 =% wEEE A, B, C 3R D 3R 7 3R HE % U Ui & 45 {1 A #Rv D @ sifam o w ¥
FIBARCHFAwdzr & B, D% ot & 3@l T W #2711 B ¥ I @ Hi d=w 7

Ans X1 D
X2B
<3 A
vicC

Question ID : 5096476003
Status : Answered
Chosen Option : 4

Q.2 fdr 1 FF FF F A F FHAT B F AT T 25% FH §| S TF W FH F W T 12 A F
T HA H G F TH &1 A HES 50 FH F A (e &l T HE?

Ans x‘]. 21
X2 26
v 28
X424

Question ID : 5096476022
Status : Answered
Chosen Option : 3

Q3 AskBas§IBRE [T s R BF R A I IR P RA G H daa 8 A P&

Ans x1_ ag;r
X2 oS

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258019106/1258019106S3D404/15603365508466078/...  17/43



https://aview.in/
https://aview.in/category/previous-papers/

6/20/2019 https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258019106/1258019106S3D404/156033655...
&< 3 =TT

Vo T s

Question ID : 5096476004
Status : Answered
Chosen Option : 4

Q4 Grfaf@a & @ 30 weg & 994 F1 S I F@e F AT @ 30T

U, HTA, fehelre, gigHear
Ans o1 ooy

&2 fhaE

v 5 gREHear

X 4 FIETA

Question ID : 5096476007
Status : Answered
Chosen Option : 3

Q5 & o Fop T g oy F TUF 20 I F ARTES T gem?

5x10 10 x15 15 x20 20 x 25

Ans 4

105
19
1100
19
500
4
125

Question ID : 5096476009
Status : Answered
Chosen Option : 1

Q6 g Fwar & 3 F AT HAAT ET S 58692 F W FW § AR wH qOT I 2

Ans X126
X224
V' 28
< 4 25
Question ID : 5096476008
Status : Answered
Chosen Option : 3
Q.7
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f=afaf@a aeat # 9= &7 F g0

S=OT |3 | €A & | 1 FET

4 1 3 2
Ans 1.3, 1,42

<232 1,4

<34 21,3

X 41,34, 2

Question ID : 5096475995
Status : Answered
Chosen Option : 3

Q8 fFr=fafem & @ 3@ faed = o= FT = fwlr TEar ¥ &% =60 dwr watea &, 5w v gadr
TEAT Ugen W& ¥ Hetod #

48 : 12 : 84

Ans x1. 24
v 2 21
X320
X418

Question ID : 5096475994
Status : Answered
Chosen Option : 2

Q9w B ST, + w A mEE, Y W Y T AR < @ s R O et
THIHIOT FT THIE FAT Z?

88 x2—-1+7+5

Ans x1_ 52
V2 46
X3 55
X 4 49

Question ID : 5096476001
Status : Answered
Chosen Option : 2

Q10 v =fFa 3o T F BT 75T, 9 759 ¥ 60% 3OS Fog W BfEAT = &) 97 s
AT F 40% FEET 10% e W, WA & 35% FEar 20% Fr ge W A e fwr 30% &
T W AT §| IH Fo Fovcrr wiererT Sy 9T g3 e

Ans X 1.31.8%
K2 325%
X3312%
v 4 304%
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Question ID : 5096476019
Status : Answered
Chosen Option : 4

O e § O Rve w7 TE =53
Ans X 1. FLOW

v 2 FLOOR

X 3 FLED

X 4 FLING

Question ID : 5096476006
Status : Answered
Chosen Option : 2

Q12 smma:2b=2:5b:c=3:28, a@ a:b: c® A7 HATET § T FoF TRET FeT?
Ans X 1.6:10: 15

K<26:15:10

v312:15:10

X415 :12: 10

Question ID : 5096476016
Status : Answered
Chosen Option : 3

Q.13 s wiEfas oo F TABLE %1 WDECH foram =mar &, ar 38 o<1 & CHAIR & f5g werr formr
FATTET?

Ans X1 LUKFD
X 2 DLUKF
v 5 FKDLU
X 4 KFDLU

Question ID : 5096475999
Status : Answered
Chosen Option : 3

™ 14400 % Tt Fr For FEA T B2

Ans X124
<2 36
X< 3 48
v 83

Question ID : 5096476013
Status : Answered
Chosen Option : 3

QA5 g ==t A sl B & aww i 9 @ 3T wAe 3 8 v 8 0 5 ¥ s wwe A 11 13 %
HIE H HART e ¥l 56 AT % 720 ml O # e 6N I #1203 a9 F e gwe
o el A F S fHeer gem

Ans X 1. 95 ml
<2115 ml
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<3125 ml
v 4 105 ml

Question ID : 5096476020
Status : Answered
Chosen Option : 4

Q.16 g 3iiv afem, s 3t S s ood ¥ 0= 3t oo, et ik T s B §
i 3 afed, awsa Ay S5 a=or ded §1 aeaiw IR W # wER, A el A
=g ¥ TeeEe # @ w7 o, aeera, $sfies s dmEie s e 2

R
X2 @
X 3o
X« tga

Question ID : 5096475996
Status : Answered
Chosen Option : 1

QA7 17 TEmst #7 st 60 #1 wEe O Twmst wv aitme 55 ¥ st aifw o Twmat av altww 62 ¥ oR
Qﬁmwﬁmﬂﬁmaﬁwaﬁmﬂmﬁwaﬁua(wa&mmmmmmm

Ans X 1. 62.2
<2619
v 617
X4 624

Question ID : 5096476018
Status : Answered
Chosen Option : 3

Q.18 3 Fwarstt F FEeaw TATESS 12 § AR 3 U 4320 ¥ OE g e g S @ d?
Ans x1_ 2

v 4

<31

X4 3

Question ID : 5096476014
Status : Answered
Chosen Option : 1

Q19 wx =T 20 km #r gff 12 kmih #Fr a1ty & AR 3= 35 km Fr gl 20 knvh Fr T F T FaT B
3 T A B HET AT kmih # B o (v gaeerE FUE OF wE)?

Ans X1.17.6
X2172
V'3 16.1
X4 16.4

Question ID : 5096476021
Status : Answered
Chosen Option : 3

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258019106/1258019106S3D404/15603365508466078!...

21/43


https://aview.in/
https://aview.in/category/previous-papers/

6/20/2019 https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258019106/1258019106S3D404/156033655...

Q.20 R = Gede oS TAT T H N T T et F v conrey s Ay 5% deey & w46
et & 518 3= F FET o F oAl W T e amer 82

Ans x1_ m
v 2 ffEr
X 5 YFER

K4 fEr

Question ID : 5096476002
Status : Answered
Chosen Option : 2

Q21 0.6+ 0523 0.29 F A7 =T & ¥ e T g2
Ans XL D@

X 2 0.868

v 0889

X 4 0.869

Question ID : 5096476012
Status : Answered
Chosen Option : 3

Q.22 77 A fig W 3T & HR TE FT5 T 1 I HD TE HR 30 m T &, O A aiw mgEer ¥ R
10 m =@ 81 987 &, 98 B & a0 g5ar § A 16 m =war 31 B A F eqEr 98 W fRw far #3

Ans v ﬁ?—q‘:c‘f
< 2 Feal
X 3 FeaR-afdas
< 4 l:|:=‘|'

Question ID : 5096476005
Status : Answered
Chosen Option : 3

Q23 357 J43-24V3 = a + bV3 @, & (3a+5b) F A REAAT F ¥ ey s @
Ans x1—8

V23

X312

X4 11

Question ID : 5096476011
Status : Answered
Chosen Option : 2

Q.24 (27)55 4+ (22)% — (13)°° F T FT T SHS SFE TUH W oeAteiad F ¥ Fid & 3HF 0=
Ans (16

x27

<35

<44
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Question ID : 5096476010
Status : Answered
Chosen Option : 4

Q.25 wF wgy 1 FTEEE TEd a9 A 6%, qEY a¥ # 8% AR far af A 5% s A ¥ 3 6t F A9 F
Ferwea # g frae gfora 1 37 597

Ans - X1 20.324%
v'2 20.204%
23 19%
X 4.19.234%

Question ID : 5096476017
Status : Answered
Chosen Option : 2

Q.26 Fwr 835:4 #, x W TEATEd #F & fhE 3 & WU s W Il FEA 12 gan fasre gee
Ans “14

<21

X3 7

<4 8

Question ID : 5096476015
Status : Answered
Chosen Option : 1

Q.27 g yer "eE”, "RofEa & & detud & 8 52 T 'whfEer Tt & @ Bew aeia
Ed

Ans (1. Tad
v 2 MO
X3 Rafaa &

X o gt

Question ID : 5096475998
Status : Answered
Chosen Option : 2

Q28 MATTER : AFFAIR :: BASIC :?
Ans - X1 LOWER

X 2 TWIN

v 5 CHIEF

# 4 POINT

Question ID : 5096476000
Status : Answered
Chosen Option : 3

Q29 Grafef@T RFedr & @, A & 7 3§ TE ST F W FS T TE RHFeT F a8 F

344, 278, 223, 179, 146, ____ |, 113

Ans 1124
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<2126
<3128
<4130

Question ID : 5096475993
Status : Answered
Chosen Option : 1

Q30 Rrfafa swer # yea fEa (?) & T+ W 3 T ReeT & 9ar w9

400, 625, 2, 1225, 1600
Ans X 1. 925

< 2. 850

#< 31000

v 4 900

Question ID : 5096475997
Status : Answered
Chosen Option : 4

Section : Teaching Aptitude

Q1 e @ e & @ FiF @ RBeE, goeaeE REEt (S-R) & 99T M 87
MK Sredie w AEERe @ g W e

X 2 FrrETee AeET
X 3. sﬁ-ﬁﬁﬂﬂmm

v o TRt # BRI g9g REE

Question ID : 5096476029
Status : Answered
Chosen Option : 4

Q.2 37U “den” FT “ben” T “was’” F ‘saw’ Tgdl ¥ 3H e ¥ F=ANUT F FHEA ¥ a7 eed AFL
T & i &1 s Fr T vt @ Rw w9 F s G o w7

Ans x1_ ElTUﬂ'ﬁm
< 2 FEEife
v o e
A4 garged e

Question ID : 5096476041
Status : Answered
Chosen Option : 3

** mrEdeier g FT TF TFT T

Ane X exrerene TR
X 2. HOETH 3RrFTar

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258019106/1258019106S3D404/15603365508466078/...  24/43


https://aview.in/
https://aview.in/category/previous-papers/

6/20/2019 https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258019106/1258019106S3D404/156033655...

(33?43%3’2,_’??!?”
X 4 ArATEE ST

Question ID : 5096476042
Status : Answered
Chosen Option : 3

Q.4 Ravi started sitting with support at the age of 4 months and started standing at 10 months. These schedules of

developments are called:

Ans X 1. stepwise development

/< 2. growth phases
/< 3. learning phases

« 4 milestones of development

Question ID : 5096476023
Status : Answered
Chosen Option : 1

Q.5 Which of the following is NOT a desirable characteristic of a language teacher?

Ans «1_

Giving opportunities to make learning within the classroom scenario only
/< 2. Creating a learner-centric classroom
/< 3. Possessing good questioning skills
7% 4. Appreciating original works of students

Question ID : 5096476032
Status : Answered
Chosen Option : 1

Q.6 frdr wu= Fr gepla Fr Ficear ik Rfvvar & s F womwe FafEhee S F we smor gl
T 87

Ans X1_
FoE H FEPA F IR H HEAaS TAFR F T FTAER A= @ F /e Fear

W 2
TTHia # T & O T, & 3R For &g Fr aEe

X 5. EERT ® TG # BT &= g By Tmer
X4 gl B HERG § HalOd Hisd dearaT

Question ID : 5096476037
Status : Answered
Chosen Option : 2

Q.7 9N wR 6 WIS F SEH E, ST HG WIS § a8, 3EE W U e Aeed § 9w e &
g R ARk et F 9 sfweeads @ 7 T 99 @ 9T i & e

Ane X gafEgs® weTETa
X 2 g3 AEwH
v 5 EFRieaT

X 4 €T g Y FHEEIT
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Question ID : 5096476040
Status : Answered
Chosen Option : 3

Q.8 = frer et &1 FoEh & TeuET & BT G § 5w gIes 1 s w s afe?
Ans X1 Fhersit @ e

X 2 wfdrca@a

X 3. TTcHSAT

v i e g AR o gET ofadt & @y g9y

Question ID : 5096476039
Status : Answered
Chosen Option : 4

@9 WWhich of the following is NOT an objective of Samagra Shiksha?

Ans o 1. To bridging economic gaps among students

&2

To provide quality education and enhance learning objectives

5 3.

To ensuring equity and inclusion at all levels of school education

r

To support states in the implementation of Right of Children to Free and Compulsory Education (RTE) Act, 2009

Question ID : 5096476027
Status : Answered
Chosen Option : 1

Q.10 Which of the following should be an objective of teaching social science at primary level?

Ans x1.

To develop in the children an understanding of the roles and responsibilities of the state in the fulfilment of
constitutional obligations.

v
To sensitise the children to social issues and develop in them a respect for difference and diversity.

< s
To enable the children to critically examine social and economic issues and challenges like poverty, child labour,

destitution, illiteracy and various other dimensions of inequality.

r 8
To develop in the children an understanding of the rights and responsibilities of citizens in a democratic and secular

society.

Question ID : 5096476036
Status : Answered
Chosen Option : 2

Q.11 Four-year-old Rohit is impatient about the ice-cream treat that is promised for tomorrow. At regular intervals of time
today, he enquires if tomorrow has come. Which of the following is NOT yet developed in Rohit?

Ans 1. Social concept
/< 2. Memory
/< 3. Imagination

« 4 Time concept

[ Question ID : 5096476024
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Status : Answered
Chosen Option : 4

02 B F ¥ i T FRF SITATHF § W TS A8 T 82
Ans x1_m

v 2. TaeraEs g
X3 G TR
X4 & = oEg

Question ID : 5096476025
Status : Answered
Chosen Option : 4

Q13 What is the result of using the analytical method while teaching mathematics?
Ans 1. Promotes rote learning

7< 2. Learner becomes a passive listener
/< 3. Encourages memory work

o 4 Ieads from unknown to known facts

Question ID : 5096476033
Status : Answered
Chosen Option : 4

WM onTeRE MU F Tt F B F O B9 o 9w T ¥
M TE aTe-afe R e #
&2

Tg FHEDHT F TATU HT TIET TG FLAT ¢ T FAATS H GAGIST FT o 2l

X 3.

Tg vy Fr B 7§ aow a7 aew Tt o s wdr & o o ofoetie ot meteror AR
iy

X 4 zHH AOF aOl F TG 7T a9 2

Question ID : 5096476038
Status : Answered
Chosen Option : 1

Q15 =i & @ gwfes B @ 9g= & a8 S o et g, 5 @er & B ot & areas
T fawy &1 Tlar ards Brar #7 gaEr & 7

Ane X Ramredr TfEeoT
v 2 FeRIcaR TeehIoT
X 3 mnfRe zfeeamor
X 4. TN TIoCehI0T

Question ID : 5096476034
Status : Answered
Chosen Option : 4

Q.16
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o & v & o T fFaer Far am

T ¥ AT FAoew 7= AR A F odR, AfEass R AT F wIAe waEhor e g1
e X1 @ RReee

X 2 ey &I

X3 gy aRfEar

v 4 FETcHT TefY

Question ID : 5096476026
Status : Answered
Chosen Option : 3

Q17 gamer e & a5t 3wt wr Afeew st @ 3 Rty w5t & e g a7 F
FT UF 3RO E

Ans K. Hfr SRR
X 2. Jferer gagaeiear
v o e AT
< 4 o fEeTeTar

Question ID : 5096476035
Status : Answered
Chosen Option : 4

Q18 Tr=fafea gl # & 3 feee ganr wEarad 3=t @vea & e & 97 12

e N 9

A,

Ans XK. R = e
X 2 AT $9T & &R
X 3. AT &1 FaE

v 4 FeeT T e

Question ID : 5096476030
Status : Answered
Chosen Option : 4

OV R F ygEr T F ¥ FF @ T e & ogaw e

Ans X . e @ ATH
X 2 gezar &1 Fae
v o ogura & TR

XK o Fgufafsar & s

Question ID : 5096476028
Status : Answered
Chosen Option : 3
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Q.20 farelr T T STEAR ST TR oredl, FrFe AR A & o iR sRE avEe W wwee @ weE g
ey T # F&r T

A X . gren-Remrg
X2 w=x B
v 3 oregty e
X 4 9reg HIEAT

Question ID : 5096476031
Status : Answered
Chosen Option : 1

Section : Concerned Subject Knowledge

Q.1  Units of a mutual fund can be purchased by investing a pre-determined amount periodically. This facility is called:

Ans X 1. systematic withdrawal plan

+ 2. systematic investment plan
/< 3. systematic dividend plan

/< 4. dividend reinvestment plan

Question ID : 5096476049
Status : Answered
Chosen Option : 2

Q2 Fia-w Fea FriRo & WETT & AU R @EEET F 30% 55T TR gaW AT 5= S &
3T AT enfEe §?

Ae X1 35t & Y5 FameT
X 2 oY TEpfReT Far
v TSt ¥ TR aer
X4 el ofy |/ w3

Question ID : 5096476090
Status : Answered
Chosen Option : 3

Q.3  The vision and mission statements of a company set the overall direction of the organization. Strategic objectives serve
what role?

Ans o 1. They operationalize the mission statement

/< 2. They modify the mission statement
7< 3. They are only clarified by the board of directors

7< 4. They are a shorter version of the mission statement

Question ID : 5096476083
Status : Answered
Chosen Option : 4

Q.4 The specific method a company uses to sell and deliver its products to its customers is known as its:

Ans 1. direct distribution

« 2. distribution channel

7% 3. retail intermediaries
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75 4. distribution mix

Question ID : 5096476059
Status : Answered
Chosen Option : 2

Q.5 Which of the following can be withdrawn by the issuing bank without the prior consent of the exporter?
Ans X 1. Clean letter of credit

v 2. Revocable letter of credit

/< 3. Documentary letter of credit

75 4. Revolving letter of credit

Question ID : 5096476096
Status : Answered
Chosen Option : 3

Q.6  An option which gives the holder the right to sell a stock at a specified price at some time in the future is called a:

Ans 3 1. naked option
/< 2. call option
« 3. put option

/< 4. out of money option

Question ID : 5096476095
Status : Answered
Chosen Option : 2

Q7 Organizations can adopt to environmental fluctuations by:
Ans o 1. Forecasting

< 2. diversifying

/< 3. monitoring competitors

/< 4. only operating in the domestic market

Question ID : 5096476102
Status : Answered
Chosen Option : 3

Q8 A balance of trade deficit exists when:
Ans o 1 the monetary value of imports exceeds that of exports

&2

the monetary value added by an exporting nation exceeds that added by an importing nation

/< 3. economies of scale are not achievable
75 4. supply of imports exceeds the demand for them

Question ID : 5096476084
Status : Answered
Chosen Option : 1

Q.9 IfH Ltd. buys 100% shares of S Ltd. for ¥ 1,00,000 cash, how will the acquisition be recorded in H Ltd’s book of

accounts?

Ans o 1. Debit investment in S Ltd., credit cash account
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52

Debit investment in S Ltd., credit S Ltd. minorities account
/< 3. The equity capital of the subsidiary

/< 4. Debit cash account, credit investment in S Ltd.

Question ID : 5096476054
Status : Answered
Chosen Option : 1

Q.10 In which of the following situations would consolidated financial statements be required?

Ans ( 1.

When one company buys majority shares of another company

/< 2. When two or more companies are merged into one

53

When one company buys all the assets of another company

/< 4. When two companies are merged into one

Question ID : 5096476056
Status : Answered
Chosen Option : 4

Q11 A #R B & weR & = 3 2 F g www A @ E1 A 7 9 30,000 § T B F R T
15,000%|Bﬁﬁﬁcaﬁnﬁmﬁmsﬁtaﬁmaﬂﬂsﬁﬁméﬁ#ﬁnmgmCaﬁra’wsfr#
T Freet ot & e shew g e

Ans 1. % 9,000
/<2 ¥ 14,500
3 T 11,250
< 4. ¥ 12,000

Question ID : 5096476065
Status : Answered
Chosen Option : 3

Q12 Which of the following types of business organization is owned by its customers?

Ans X 1. Franchise
« 2. Retail co-operative
/< 3. Public limited company
7% 4. Partnership

Question ID : 5096476047
Status : Answered
Chosen Option : 2

Q13 YWho gave the managerial grid theory of leadership?

Ans X1 VI Peddin
v 2 Mountain & Black
< 3. Tannenbaum & Schmidt
7< 4. Paul Hersey & Blandard

r \
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Question ID : 5096476068
Status : Answered
Chosen Option : 2
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Q14 Which of the following options is NOT a principle of business ethics?
Ans 5 1. Principle of satisfaction

7% 2. Principle of a spirit of service

/< 3. Principle of due process

« 4 Principle of exception

Question ID : 5096476072
Status : Answered
Chosen Option : 4

Q15 The contingency theory focuses on:
Ans < 1. groups and human behaviour
/< 2. interrelationships

« 3. situational variables

/< 4. economic needs of workers

Question ID : 5096476060
Status : Answered
Chosen Option : 3

Q16 When preparing a break-even graph, what does the Margin of Safety refer to?

Ans 1. Variable cost

/< 2. Break-even point
+ 3 Profit margin
#< 4 Fixed cost

Question ID : 5096476044
Status : Answered
Chosen Option : 2

U FT aMOER Y TITRUNT FRF FT SR §7
AN 1. TR

X2 afder

X 3. TSeATas

< 4 grATs

Question ID : 5096476101
Status : Answered
Chosen Option : 2

Q.18 The group of market participants that collectively facilitate interaction between investors and issuers is known as:

Ans 1. custodians

/< 2. regulators

v 5 intermediaries
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/< 4 bankers

Question ID : 5096476062
Status : Answered
Chosen Option : 3

A RfafRe & @ #la-ar o ot gEr gey v # ged 4SS 3EEIT 37
Ans ‘,1_
RERF o7 F v afFaa e F oy Sues w2 REflg wE
52
IS AT TR F T HAE FA F T STETF TS H ST FAT
X 3.
Rrege w59 == & Rw B @ & svie w e &)

4
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Question ID : 5096476081
Status : Answered
Chosen Option : 3

Q.20 The difference between job specifications and job descriptions is that job specifications primarily describes the:

Ans o 1. Qualities a person performing the job must possess.
/< 2. List of the tasks and responsibilities that the job entails.
X 3.
Observable actions that comprise the various job demands.
/< 4. Steps involved in getting detailed information about a job.
Question ID : 5096476077
Status : Answered
Chosen Option : 2
Q.21 . s
BT IEel SANT TAET TEE=T AT &
Ans
1 U7 g HT EEAT F gETem o g
X 2. A 9o g W
Ko Fad 8 Hefaw I @ ¥ Avafea fear ser &
X 4. AT A F AR W
Question ID : 5096476058
Status : Answered
Chosen Option : 2
Q22 wWhich of the following statements is true of the media mix?
Ans x 1.
Individual preferences have no effect on the combination of media to be used to deliver a message.
52

Advertisers use the media mix to maintain uniformity across all advertising media.
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v
The characteristics of a product help in determining the combination of media that should be used.

r

It is not possible to use only one medium or vehicle to deliver a message.

Question ID : 5096476085
Status : Answered
Chosen Option : 2

Q.23 Under which of the following market structure, AR of the firm will be equal to MR?
Ans 1. Monopoly

/< 2. Monopolistic competition
/< 3. Oligopoly

W 4 Perfect competition

Question ID : 5096476094
Status : Answered
Chosen Option : 4

Q.24 Managers who are concerned not only with cost management but also with revenue generations are in a responsibility
level called a:

Ans X 1. cost centre
/% 2. investment centre
/< 3. budget centre

o 4 profit centre

Question ID : 5096476064
Status : Answered
Chosen Option : 3

Q25 The human relation theory primarily focuses on:
Ans o 1. individual

/< 2. informal organization

/< 3. decision making

/< 4. formal organization

Question ID : 5096476071
Status : Answered
Chosen Option : 1

02 ooy g & WY TR FAEARYT & T R HTR T B
A e St ¥ R afawe

X 2 STER Fr FEgea Ty

X o A got # Fgew AR

X4 g FAEEd I

Question ID : 5096476083
Status : Answered
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l Chosen Option : 1 ]

Q27 Gross profit is the difference between

Ans < 1. sales revenue and closing stock
« 2. sale revenue and cost of goods sold
75 3. sales revenue and opening stock

/< 4. purchases and closing stock

Question ID : 5096476048
Status : Answered
Chosen Option : 2

028 DT & & FI9-8T ve Rucde da=R & Rfrear 3¢ &7
Ans x1_
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2
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&3
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Question ID : 5096476089
Status : Answered
Chosen Option : 3

Q29 YWho coined the expression ‘Marketing Mix’?
Ans X 1. Abraham Mashlow

#< 2. Peter Drucker

/< 3. Henry Fayol

« 4 Tames Culliton

Question ID : 5096476099
Status : Answered
Chosen Option : 3

Q.30 Which perceptual error occurs when a supervisor incorrectly rates an employee at a similar level across all performance
dimensions based on an overall impression of that employee?

Ans % 1. Projection bias

75 2. Attribution error
/< 3. Stereotyping
« 4 Halo effect

Question ID : 5096476045
Status : Answered
Chosen Option : 4

Q.31 o g, o gamr ST e TEg w9 & g Rifgse aEe W A RER e w
o &

Ans
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Question ID : 5096476098
Status : Answered
Chosen Option : 2

O Gt o7 ¥ AeuA ¥, 9= 7E TEgat A F 9 e

SR T : T 67,000

ATea & : ¥ 51,000

g : T 1,02,000

3T AT #7737 : T 3,000
Ans o 1.¥1,21,000

/<23 1,12,000

/< 3.3 92,000

/< 4 3 1,22,000

Question ID : 5096476052
Status : Answered
Chosen Option : 1
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Question ID : 5096476073
Status : Answered
Chosen Option : 4

Q.34 ofy fedr TereT &1 3EH TAT FATCT &7 e & Tger BFr off Tag 98T feam =1 W 3, o 78
FEEAT &

Ans mem
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Question ID : 5096476063
Status : Answered
Chosen Option : 4

Q.35 Frmffm & F B 3 Fue St 3t saus #1 apse S, T @, R e st
I W = F O v et e e == F = F 9fenfyg R e

A ofeeT geue
A2 FR qerfer 1 fareeoT
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Question ID : 5096476075
Status : Answered
Chosen Option : 2

Q36 The capital structure decision mainly refers to the decision of:
Ans 1. working capital
« 2 financing

/< 3. dividend policy

/< 4 investments

Question ID : 5096476092
Status : Answered
Chosen Option : 1

Q.37 Which of the following is true of the relationship between training and development?

Ans x1.

Training is future oriented, while development is focused on improvement of current job.

&2

Participation in training is voluntary but compulsory in development.

< s

The use of work experience is high in training but low in development.
( 4.

The goal of training is preparation for the current job, while the goal of development is preparation for changes

in the current job.

Question ID : 5096476079
Status : Answered
Chosen Option : 1

Q38 Why are consumer cooperative societies formed?
Ans X 1. To provide the members with some financial assistance
« 2 To safeguard the consumers” interests

/< 3. To market the goods

/< 4. To provide the members with housing facilities

Question ID : 5096476066
Status : Answered
Chosen Option : 2
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Q.39 What is the advantage of establishing and administering policies in organizations?
Ans x 1.
It allows companies to address issues on a case-by-case basis.
X 2
It eliminates the need for documentation and record keeping.
X 3.
It encourages employees to defend themselves by claiming ignorance of disciplinary norms.
v
It allows companies to handle situations more fairly and objectively.
Question ID : 5096476074
Status : Answered
Chosen Option : 4
Q.40 The method of subtracting the present value of cash outflows from the present value of cash inflows is known as:
Ans 1. payback period
( 2. net present value
/< 3. average rate of return
#< 4. internal rate of return
Question ID : 5096476093
Status : Answered
Chosen Option : 2
Q.41 A firm had the following accounts balances on a certain date. Determine the owner’s capital.
Debtors : ¥ 20,000
Van : ¥ 25,000
Creditors : T 15,000
Inventory : ¥ 9,000
Bank over draft : € 6,000
Cash : ¥ 10,000
Ans
7 1. T 60,000
75 2. T 54,000
< 3. 49,000
W 4 43,000
Question ID : 5096476051
Status : Answered
Chosen Option : 4
Q42 wwhich of the following statements is true about effective communication?
Ans x 1.
Effective integrated marketing communications is usually non- personal in nature.
X 2
Advertising is an effective way of communication because marketers are able to tell consumers how to interpret
their messages.
Vs
For effective communication, marketers must understand the meanings that consumers attach to words and symbols.
r
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Effective communication is unaffected by the reception environment.

Question ID : 5096476086
Status : Answered
Chosen Option : 3

Q.43 Many organizations have a large number of functional areas with very diverse and sometimes competing interests. Such

organizations will be most effective if:

Ans 1. management and employees have separate goals
/< 2. each functional area focuses on achieving their own goals
« 3. functional areas work together to attain overall goals

/< 4. goals are defined at the bottom and implemented at the top

Question ID : 5096476087
Status : Answered
Chosen Option : 4

Q44 The quotas of all member countries with the IMF are valued in terms of:
Ans X 1. Swaps

v 2 SDR

X 3. GDR

< 4 Dollar

Question ID : 5096476097
Status : Answered
Chosen Option : 3

Q.45 Ap investor who has short term financial needs may choose to invest primarily in:
Ans o 1 bonds for steady return
/< 2. equities for better return

/< 3. gold for better appreciation
/< 4. property for higher value

Question ID : 5096476069
Status : Answered
Chosen Option : 1

Q.46 9 mgm gew AR fow e ¥ w=Eew fR T 3w W EiEER = F e Seefafae & @ siear
TS T Hherer B7

Ans x,]_ ﬁ a‘ ﬁ
<2 TQM
X 3. STHATeReT
v o HRENT gfear # gaEer

Question ID : 5096476091
Status : Answered
Chosen Option : 4

Q47 Crafafd # & Fla-3 AT F HETHA TEEA HEd B L T 82
Ans X1_
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Question ID : 5096476043
Status : Answered
Chosen Option : 2

Q.48 Which of the following options best expresses the basic idea behind marketing concepts?

Ans

/< 1. Produce the best possible product
/< 2. Try to reduce the cost of marketing
/< 3. Produce the cheapest possible product

« 4 Keep the consumer foremost in mind

Question ID : 5096476100
Status : Answered
Chosen Option : 4

Q49 ofr v T & v 327 B o Wl T 2,50,000 ofr T w=r Fiv 95 T 75,000 of, A @
TSI Sy g

Ane X1 % 125,000 F
~< 2. ¥ 200,000 &
#< 3. ¥ 150,000 &

v+ T 175,000 &

Question ID : 5096476050
Status : Answered
Chosen Option : 4

Q.50 Which of the following is ranked last both in terms of profit sharing and receiving liquidation proceeds?

Ans X 1. Employees
« 2. Equity shareholders
#< 3. Lenders

75 4. Government creditors

Question ID : 5096476080
Status : Answered
Chosen Option : 2

Q.51 A reporting relationship in which an employee receives orders from and reports to only one supervisor is known as:

Ans X 1. centralization

+ 2. unity of command
/< 3. line of authority

7< 4. unity of direction
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Question ID : 5096476061
Status : Answered
Chosen Option : 2

Q52 The IMF and World Bank benefit global marketers by:

Ans 5 1. acting as a forum for corporate trade negotiations
/< 2. maintaining variable rate financing for manufacturers
/< 3. reviewing visionary mission statements

« 4. raising the global standard of living

Question ID : 5096476055
Status : Answered
Chosen Option : 1

Q.53 The debit side of a company’s trial balance totals ¥ 2000 more than the credit side. Which one of the following errors
would fully account for the difference?

Ans «1_

A discount received of ¥ 1000 has been debited to discount allowed account.

52

A receipt of T 4000 for commission receivable has been omitted from the records.

53

T 1000 was paid for the plant maintenance has been correctly entered in the cash book and credited to the plant asset

account.

4

A receipt of ¥ 2000 for commission receivable has been omitted from the records.

Question ID : 5096476053
Status : Answered
Chosen Option : 1
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Question ID : 5096476076
Status : Answered
Chosen Option : 3

Q.55 IfHLtd. purchased 75% of the shares at a price of T 1.10,000, when S Ltd. share capital was ¥ 60,000 and its
accumulated profit amounted to ¥ 80,000, what was the amount of goodwill paid by H Ltd.?

Ans  of 1. T5.000
< 2. T 15,000

75 3. T 10,000
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/< 4 T 18,000

Question ID : 5096476057
Status : Answered
Chosen Option : 1

@56 The main focus of TQM is on:
Ans 1. profitability of company
/< 2. customer delight
« 3. quality of product

/< 4. training of employee

Question ID : 5096476070
Status : Answered
Chosen Option : 3

Ans

W 4
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Question ID : 5096476067
Status : Answered
Chosen Option : 4

Ans X 1. Economics

« 2. Competition
/< 3. Demographics
< 4 Culture

Q.58 wWhich of the following is NOT included in a firm's macro environment?

Question ID : 5096476046
Status : Answered
Chosen Option : 1

Ans

X 1. AT e e
X2 F Ea
v o Fr faedoT
X4 Y Faor
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Question ID : 5096476073
Status : Answered
Chosen Option : 1
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Q.60 Which of the following statements is true of the relationship between law and ethics?

Ans X 1. Ethical actions will not have legal implications.

7< 2. All ethical actions are legal.
+ 3. Anaction may be within the law and still not be ethical.

/< 4. Legal actions are typically not treated as ethical actions.

Question ID : 5096476082

Status : Answered

Chosen Option : 3
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